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Chapter 12 Even Answers

Fy+Ry-F;=0,F,-R,=0,F cos 6-F %Bcos 6-F,dsin=0
3.01 kN
0.750 m
Xeg =2.54 M, yg =475 m
8.33%
1 X0 .0 L [(1/2) myg + (d/L)m,g]cot 6
a mq.g + m cot 6, (m; +m b
€Y 2 19 L[] 29D (my 2)9 () (M, + m,)g
0.643m

Fiop = 36.7 N (left), Fporiom = 31.2 N (right)
1/3 by left string, 2/3 by right string
3L/74
(@) 73.6 KN (b) 2.50 mm
~1lcm
9.85 x 105
0.0293 mm
1035 kg/m3
(a) 6.89 mm (b) No
3.51 x 108 N/m?
48.0 N
sin 8
9S5in(@+p)
(b) T=343 N, R, =171 N (to right), R, =683 N (up) (c)5.13m
T =1.46 kN, H = 1.33 kN (to right), V = 2.58 kN (up)
Fax = 6.47 x 10° N (left), Fg, = 6.47 x 10° N (right), Fay, = 1.27 x 10° N (up)
0.268
T=168kN,R=234KkN, 6=21.2°
(b) T,=T,=1.44kN, T3 =142 kN
(a) 120 N (b) 0.300
(c) 103 N applied at 31.0° above horizontal at upper left corner
(2/5)R
(c) in AB, compression = 732 N; in BC, compression =897 N; in AC, tension =634 N
(@) Xeg =9.09 M, y;g=10.9m (b) X;g=10.0m, yu =10.9m (c) 0.144 m/s
(37/8)F,
(@ Py =P3=167N,P,=333N (b)2.36 N
490 cm
Yeg = 16.7cm
5.73 rad/s
Na = 11.0 kN, ng = 3.67 KN; Fag = Fpe = 7.35 kKN (compression);
Fac = Fcg = 6.37 KN (tension); Fgc = Fcp = 4.24 KN (tension);
Fgp = 8.49 kN (compression)

. sin a . .
(left side) , Mg m (right side)
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